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Note: (i) All the 32 questions in both the section ‘A" and 'B' are compulsory.

(i) Marks for questions are indicated against each question.

(if) Question No.1 to 5 and 17 to 21 are very short answer type
questions carrying 1 mark each. They are required to be answered in
one sentence or within 20 words each.

(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions
carrying 3 marks each. Answer to them should not normally exceed
60 words each.

(v) Question No. 11 to 13 and 27 to 29 are also short answer type
questions carrying 4 marks each. Answer to them should not normally
exceed 70 words each.

(vi) Question No. 14 to 16 and 30 to 32 are long answer type questions
carrying 6 marks each, Answer to them should not normally exceed
100 words each.

(vii) Answer should be brief and clear to the point and above word limit be
adhered to as far as possible.

(viii) Start from the first question and proceed to the last. Do not waste

time over a question if you cannot solve it.
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{os - A (Section — A)
1. g & W a9 I B &2 | | 1

Why does the 'problem.df choice' arise?

2. At # wRada’ &1 31 saEA| 1

Define 'change in demand'.

—

3. o drra v 9 @t & 9 g Judifiar e A 9 gl €

When 'Marginal utility' is zero, then in following, the ‘total utility" is :

() I3 (i) =gAdW
Zero Minimum
(iii) oD (iv) iftrean
Negative Maximum
4, AU T (MP) &5 B Pl THTI: fobw YR B &t 87 1

What is the general shape of MP curve.

5. FAR P e Rl &, waf & Wda W vd sfptr dan 2 - 1

In which market condition, entry into the market as well as exit from the
market are free for firms :

(i) TSR
Monopoly

(i) SERHR
Oligopoly

(iii) qof sfernfir
Perfect Competition

(iv) CHItdR! wfaafian

Monopolistic Competition
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6. IAUICH TG I B} IGEIRN ) fed GRT WL Difoe!

Clarify the concept of production possibility curve with the help of diagram.

7. TR ol au g awsit & 3l o o g s

Explain the meaning of normal goods and inferior goods with the help of

diagram.

8. W JKUIE Bd 3T IAE & T BN [ Do

Explain the relationship between marginal product and total product.

9. IERHar o o faevwamt o1 aole e

Describe the properties of indifference curve.

10. fom anferar & qof sfcrafirer & st B T @ fox A e Bifme-

Pma (o W) | A A (3ER) | O @ E= (GEE)
1 100 10
5 60 40
8 50 50
10 30 60
20 10 100

3

3

From following table, draw the diagram of determination of equilibrium price under

perfect competition-

Price (% per Unit) Demand (Units) Supply (Units )
1 100 10
5 60 40
8 * 50 50
10 30 60
20 10 100

11. Wa Jwafar g o @ aferd vd fos gry wwesel

Describe the law of diminishing marginal utility with the help of table and

diagram.
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i2. S A o et vd e gRT SweEd| 4
Explain the marginal cost with the help of table and diagram.
13. o % afe & oy T e &2 aifere v o g1 we Sifse 4
What do you mean by 'increase in supply'? Explain with table and figure.
JAYdi (OR)
Frafeiaa arfera @ oo aRadeller emia vd Sra emra Bt ToFT s Srals o @Y
Far ReR e 2 12 )
3 (3P H) P A (3)
1 20
’ 2 26
3 31
4 38
Culculate the total variable cost and marginal cost from the following cost
scheduls of a firm, whose total fixed cost are T 12.
Output (Units) Total Cost (in )
1 20
2 26
3 31
4 38
14. qewue Ao da &2 T o frohoor @ T  3yviieT Sqee @t oiet
BEEIEY 6
Define an indifference map. Explain the conditions of consumer's equilibrium
with the help of the indifference curve analysis.
15. BT e Ber W 39 791 GaE &7 T B wera ¥ we St 6
What do you mean by long period production function? Explain with a diagram.
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16. wmﬁmﬁmmmﬁ?gﬂuﬁmﬁm%mﬂﬁmﬁﬂwﬁ

e el 8

What do you mean by perfect competition? Discuss the short run equilibrium of

a firm under perfect competition.
a1 (OR)

of st ol eoRtieR & 7er FR W B

Explain the difference between pefect competition and monopoly.

WUg - & (Section - B)

17. ST & B 9 Hn wRa § B A T A 8- 1
Which of these institute in India issues the currency notes-
() WRaw o 9@ (i) HRAG ®RE &
Reserve Bank of India State Bank of India
(jii) TS (iv) fiwa§s
NABARD World Bank
18. I & Big a1 Hrd folad {
Write any two functions of money.
19. MPS I 89 | MPC &1 Hed T grm- 1
What will be the value of MPC, when MPS is zero-
i I3 (i) Fd
Zero Infinite
(i) T (v) I BE TR
One None of these
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20.

qaa o o 3 &7 1
What is meant by Saving?

21. Y H=eF @ aRenfia e (
Define balance of payment.

22, I FRI D IR Bt fer gR1 W difore 3
Explain the concept of inflationary gap with the help of diagram.

23. @fte o wwite srfere & & 3R &7 3

. Distinguish between micro and macro economics.

24. WY W & Gedi BT U BIfL? 3
Describe the components of aggregate demand.

25. YT Ao QR ¥ 590 U4 333 Wl 1 a1 AT &7 3G9 e b & JaTeRV aifore?

3
What is meant by visible and invisible items in balance of payment accounts?
Give the two examples of invisible items. https://www.ukboardonline.com

26. fafmra R &1 &0 3nf 27 FeR fifnrr = & W Sifsee 3
What do you mean by exchange rate? Clarify the fixed rate of exchange.

27. T TUTE 1 319 T FHEa &2 3T MO H/ B AN &7 FeTERwT W qaRd| 4
What do you mean by investment multiplier? How is it culculated? Explain with
example.

28. TPRI &3c B IR Bifore 3R 396 W@ 17 Fagel 4
Define government budget and give its main objectives.

344l (OR)
TG HIET &1 &7 39D YA BT Jeord it
What is meant by Revenue deficit? Mention its effects.
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29, Fgfird aoe, FEAY dorc U O & A9 B FEUROTGH B T Bifare|

Clarify the concept of balance budget, surplus budget and deficit budget.

30. YA 3ma B faftra SOt @ e el

Explain the various concepts of National Income,

31. o & & W@ Pl B e D

Explain the main functions of Central Bank.

32. iREd R 3T Fa1 THE &2 F6 WE RN B TR

What do you mean by involuntary unemployment? Mention its main causes.
JYai (OR)

o QTR ) RO Y R ot o b R i e e

Give the concept of full employment. Discuss the full employment policy.

XEE¥XE
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